Year 10 Higher
Scheme of
Learning




Vector Circle

) notation theoremes,
Bespoke Functions & N
revision transforming equations Complex Sx
graphs & graphs trigonometry ‘9(;&
X

G

< 3
1001 R U sydelb Functions & *; 5
oRdNAsUo0) 1 uonodoud further S g’
algebra £ S
. " o
Perimeter, area Averages Angles & Constructions
& volume Transformation ~ & bearings Probability &

s diagrams

)
A4
e}
QQ (2]
o 3
5w O : >
2 @ Sequences Pythagoras & Equations,
.% § a Trigonometry quadratics &
o5 Inequalities
L Q o
PR
2% _ _ .
5 2 Handling data & Angles in g, ‘901‘/0
2 measures of parallel lines, Cone. S g
@ - &
.Q/) location lines & Jes
% %2 aral alalal $
) ,/o S N
2% X
%2 %. D,
/A_ : %@'/OC/
) 7
Number: Area of trapezia Standard form &
including index & circles; Line number sense °3 9
laws symmetry & g5 %
Sets & Proof | eflections - Working in e T2
probability Multiplicative Cartesian @ gg
reasoning plane

Ratio & scale Multiplying & dividing ¢

numbers fractions

Fraction
arithmetic

Fractions, Use and Place value and
% Fraction & % decimals & understand ordering, including
9(% of amounts percentages algebraic decimals
Y P (/'OQ notation
% %, %
7
EREY
% %6
®O’ D
(@]

Equality &
Equivalence -
solving equations

Problem solving with
four main operations

Extend/Higher 2021/22
(includes Y11 bounce
back)

Sequences



This is what your child will be taught as part of the
GCSE higher course in Year 10 in their MATHS lessons.
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Cross Curricular Lessons

They will have also have specific lessons
linked to other subjects and a diet of
retrieval built into their lessons.




In Year 10 Module 2 your child will study the following
topics:

Similarity and congruence

- Accuracy
- Further statistics

Further trigonometry
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In this Unit students will learn
How to prove congruency

Similarity and

Congruence

To use scale factors to

problems involving length,

area and volume
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In this unit your child will study:

- Upper and lower bounds
- Calculating with bounds
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Further
Statistics

In this Unit students will study:
Quartiles

- Cumulative frequency
graphs
- Box plots

Histograms
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| Histograms

+ A histogram will usually have no gaps between the bars, This is because it s used to represent continuous data

« The area of the bars represents the frequency. So, to find the frequency we muitiply the class width by the
I frequency density.
I- The modal group is the one with the highest hvcnmcy - you can probably spot this one without a calculation
Which bar has the largest area?
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Cumulative Frequency Diagrams

« A cumulative frequency diagram helps us to find other information about the data that a frequency diagram I
or histogram might hide

« The highest point on the graph shows us the total frequency. I

« By splitting the y-axis into quarters we can find the quartiles. These can tell us useful information about our data I
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Further Trigonometry

In this unit your child will study:

- Exact trigonometric values

- Pythagoras and Trigonometry in 3D

- The Sine Rule

- The Cosine Rule

- How to find the area of any triangle
using trigonometry

- Trigonometric graphs
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e recommend pupils have a Casio
scientific calculator.
The Casio calculator featured is the one
e use when demonstrating in lessons.
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On our school website there
is a calculation policy
showing the methods we

use for common operations.
It can be found at:
Our School > Policies

St Joseph's Catholic Academy

Calculation Policy




